Amana ALW210RMC (BOM:
and Special Tools

PALW210RMC1) 02

- Base, Cabinet, Front

27,

— !
2L i

N

gy~

v

-

A

//
——

: 1
g
LEG AND STAB BAR AVAILABLE
AS PART OF BASEPAN ONLY

14

o
Image 1 18
image2 SPECIAL TOOLS image3 SPECIAL TOOLS
N\ (= )
/\\ I{ v { [ e, 35 5
, 33 g 5“\ N
! == 34 " 36 41
= \ 40
37
| A & = “
% - gy S=e 38 0
s % 7 ]
29 : c i

Amana Residential Amana ALW210RMC (BOM: PALW210RMC1) Washer Parts Parts Diagram 02 - Base, Cabinet, Front

and Special Tools
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 32671 Y014874 Screw, Idler Arm And Sleeve
2 505187 Locator, Panel
3 20530 Screw, 10-24 x 3/8 Hex
4 500003 Hinge, Top
5 40064801 3390631 Screw, 10-16 X 3/8
8 40076402C 40076402CP Cabinet, Dryer And Washer
9 Y56128 Pad, Bumper
11 40038201 27001200 Screw
13 56486 Not Available BRACE, TOP
14 40031501 Bracket, Self Leveling
15 40037401 Ring, Friction
16 40031201 27001226 Base Lev
17 40038101 Nut, Leg
18 40016001 Foot, Rubber
19 40039001 22003428 Leg, Adjustable


http://www.pwslaundry.com/c-501343-residential-amana-alw210rmc-(bom:-palw210rmc1)-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10395333-amana-y014874-washer-dryer-screw-idler-arm-and-sleeve.html
http://www.pwslaundry.com/i-10393340-amana-505187-washer-dryer-locator-panel.html
http://www.pwslaundry.com/i-10393354-amana-20530-washer-dryer-screw-10-24-x-3-8-hex.html
http://www.pwslaundry.com/i-10393342-amana-500003-washer-dryer-hinge-top.html
http://www.pwslaundry.com/i-10395703-amana-3390631-washer-dryer-screw-10-16-x-3-8.html
http://www.pwslaundry.com/i-10393558-amana-40076402cp-washer-dryer-cabinet-dryer-and-washer.html
http://www.pwslaundry.com/i-10392800-amana-y56128-washer-dryer-pad-bumper.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html
http://www.pwslaundry.com/i-10393616-amana-40031501-washer-bracket-self-leveling.html
http://www.pwslaundry.com/i-10393617-amana-40037401-washer-ring-friction.html
http://www.pwslaundry.com/i-10396134-amana-27001226-washer-base-lev.html
http://www.pwslaundry.com/i-10393618-amana-40038101-washer-nut-leg.html
http://www.pwslaundry.com/i-10393619-amana-40016001-washer-foot-rubber.html
http://www.pwslaundry.com/i-10394423-amana-22003428-washer-leg-adjustable.html

22 40045301C 40045301CP Panel, Access

24 501086 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

26 40035401C 40035401CP Panel, Front

28 56080 22001650 Fastener, Spring

30 24161 Torx Bit Holder

32 40047301 27001185 Brace- Shp

34 40068201 27001185 Brace- Shp

36 294P4 Bell Tool

38 273P4 Tub Cover Gasket Tool

40 293P4 Seal Tool

42 254P4P Agitator Hooks


http://www.pwslaundry.com/i-10393620-amana-40034101-washer-screw-no-12bx1-2.html
http://www.pwslaundry.com/i-10393566-amana-40045301cp-washer-dryer-panel-access.html
http://www.pwslaundry.com/i-10393376-amana-40083101-washer-tape-foam.html
http://www.pwslaundry.com/i-10394956-amana-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393674-amana-40034202-washer-clip-spring.html
http://www.pwslaundry.com/i-10393692-amana-40035401cp-washer-panel-front.html
http://www.pwslaundry.com/i-10392353-amana-22001817-washer-sheet-sound-damper.html
http://www.pwslaundry.com/i-10394420-amana-22001650-washer-dryer-fastener-spring.html
http://www.pwslaundry.com/i-10393622-amana-282p4-washer-t25-tamper-resistant-bit.html
http://www.pwslaundry.com/i-10393623-amana-24161-washer-torx-bit-holder.html
http://www.pwslaundry.com/i-10393624-amana-306p4-washer-hex-wrench.html
http://www.pwslaundry.com/i-10396133-amana-27001185-washer-brace-shp.html
http://www.pwslaundry.com/i-10393675-amana-321p4-washer-hook-spring.html
http://www.pwslaundry.com/i-10396133-amana-27001185-washer-brace-shp.html
http://www.pwslaundry.com/i-10393625-amana-294p4b-washer-drive-bell-bolt.html
http://www.pwslaundry.com/i-10393626-amana-294p4-washer-bell-tool.html
http://www.pwslaundry.com/i-10393627-amana-273p4-washer-tub-cover-gasket-tool.html
http://www.pwslaundry.com/i-10395317-amana-283p4-washer-dryer-terminal-extractor-tool.html
http://www.pwslaundry.com/i-10393628-amana-293p4-washer-seal-tool.html
http://www.pwslaundry.com/i-10393629-amana-34677-washer-10-circuit-plug.html
http://www.pwslaundry.com/i-10392861-amana-254p4p-washer-agitator-hooks.html
http://www.pwslaundry.com/i-10393689-amana-40117501-washer-assembly-wire-harness-base.html

	Amana ALW210RMC (BOM: PALW210RMC1) 02 - Base, Cabinet, Front and Special Tools

